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10 primeiros dias de 2001

Year Lagl Lag2 Lag3 Lagd4 Lag5 Volume Today Direction
2001 0.381 -0.192-2.624 -1.055 5.0101.19130 0.959 Up
2001 0.959 0.381-0.192-2.624-1.055 1.29650 1.032 Up
2001 1.032 0.959 0.381-0.192-2.624 1.41120-0.623 Down
2001 -0.623 1.032 0.959 0.381-0.192 1.27600 0.614 Up
2001 0.614 -0.623 1.032 0.959 0.3811.20570 0.213 Up
2001 0.213 0.614-0.623 1.032 0.9591.34910 1.392 Up
2001 1.392 0.213 0.614-0.623 1.032 1.44500-0.403 Down
2001 -0.403 1.392 0.213 0.614-0.623 1.40780 0.027 Up
2001 0.027 -0.403 1.392 0.213 0.614 1.16400 1.303 Up
2001 1.303 0.027-0.403 1.392 0.213 1.23260 0.287 Up



1250 dias e 9 variaveis

Year: The year that the observation was recorded

Lagl: Percentage return for previous day

Lag2: Percentage return for 2 days previous

Lag3: Percentage return for 3 days previous

Lag4 : Percentage return for 4 days previous

Lag5: Percentage return for 5 days previous

Volume: Volume of shares traded (number of daily shares traded in billions)
Today: Percentage return for today

Direction : A factor with levels Down and Up indicating whether the market had a positive or negative
return on a given day
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cor( ) : devolve as correlagdes entre as 8 variaveis

Temos que tirar a ultima coluna: Smarket[ ,-9] pois tem

uma varidvel qualitativa (direction).
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» cor (Smarket [,-9])
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> attach({Smarket)
> plot(Volume)

Exercicio: grafico do volume de transacdes em fung¢ao do tempo



Usando Regressao Logistica para prever Y = “direction”

Y assume “UP” e “DOWN” : é uma variavel qualitativa “explicada” por 8 variaveis
preditoras que sao quantitativas.

Comandos do R: glm( )

> glm.fits=glm(Direction~Lagl+Lag2+Lag3+Lag4+Lag5+Volume,data=Smarket, family=binomial)
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Y : Variavel
Resposta



> Elm. probs=predict(glm.fits,type="responsa")
> glm.probe [1:10]
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Year Lagl Lag2 Lag3 Lagd4 Lag5 Volume Today Direction
2001 0.381-0.192 -2.624 -1.055 5.0101.19130 0.959 Up
2001 0.959 0.381-0.192-2.624 -1.055 1.29650 1.032 Up
2001 1.032 0.959 0.381-0.192-2.6241.41120-0.623 Down
2001 -0.623 1.032 0.959 0.381-0.192 1.27600 0.614 Up
2001 0.614-0.623 1.032 0.959 0.3811.20570 0.213 Up
2001 0.213 0.614 -0.623 1.032 0.9591.34910 1.392 Up
2001 1.392 0.213 0.614-0.623 1.032 1.44500-0.403 Down
2001 -0.403 1.392 0.213 0.614 -0.623 1.40780 0.027 Up
2001 0.027-0.403 1.392 0.213 0.6141.16400 1.303 Up
2001 1.303 0.027 -0.403 1.392 0.213 1.23260 0.287 Up
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